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= 20,000
=} 9,000
= 21,000
S3M ordll(kfT) T2 360,000 287,500 72,500
= 144,000
& 64,800
= 151,200
307 giztol A 360,000 287,500 72,500
= 144,000
& 64,800
= 151,200
02 Q2B AMAIE E =X 360,000 287,500 72,500
O 202149 D= 2S5 o =z ) 360,000
= 144,000
== 64,800
= 151,200
HELA SSHEE ALY 77,500 67,500 10,000
= 31,000
o= 13,950
= 32,550
307 212t0| & 77,500 67,500 10,000
= 31,000
o= 13,950
= 32,550
02 QIZHE AAIE E X 77,500 67,500 10,000
O T &4 A2AF A4F D" 77,500
= 31,000
& 13,950
o 32,550
NEE2SRA DFAY 44,000 0 44,000
= 22,000
& 6,600
= 15,400
307 2izto| A 44,000 0 44,000
= 22,000
& 6,600
= 15,400
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O DN&E=s<l &M ot= <2l DF 010 44,000
= 22,000
< 6,600
[ia 15,400
SRFsH EgaelEt 29 ALY 19,682 16,000 3,682
< 9,841
[ia 9,841
101 124l 19,682 16,000 3,682
< 9,841
e 9,841
04 JI2ZtHZ22HEE = 19,682 16,000 3,682
O E223H SEa2e 29 NBMY 19,682
< 9,841
s 9,841
EXNE SEIsM dsgs N 34,800 34,800 0
< 13,440
s 21,360
301 EEH = 34,800 34,800 0
< 13,440
i 21,360
12|24 = 34,800 34,800 0
O & fERSM ds2sH(HUESRT)
800,000& 1200 & 9,600
< 3,840
s 5,760
O & RPEYISN dSESHI (2 BERSA) 25,200
< 9,600
[ia 15,600
fES4H =AM 50,000 50,000 0
307 eIzl & 50,000 50,000 0
04 QIZFHALAIH E = 50,000 50,000 0
O M2z 2S84 =N 50,000
HadadASH &AL 39,000 39,000 0
< 15,000
s 24,000
307 21201 A 39,000 39,000 0
< 15,000
[ 24,000
02 LAFAAFEX 39,000 39,000 0
O & dS23AA S 39,000
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= 13,200
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EXN: S3so2Z 0t
Hu: MER5 2E L Mz
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- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
= 35,000
& 7,500
= 7,500
401 AlEHIZL £ 0HY| 50,000 0 50,000
= 35,000
& 7,500
= 7,500
01 Al&H| 50,000 0 50,000
O 28X Ad|, Ji0t B2 &x &« JioF &
Stxel 8 50,000
= 35,000
& 7,500
= 7,500
Z2IIXNEL2 M &2 S22 ELSZH(2M S & 45,000 0 45,000
HIlEe)
= 31,500
o 6,750
= 6,750
401 A& HI L E0HHI 45,000 0 45,000
= 31,500
o=} 6,750
= 6,750
01 Al&H| 45,000 0 45,000
O &M SXEY HEAY 45,000
= 31,500
& 6,750
= 6,750
Z2IXNEL2 M 2 SEL2 M ELZH(LDE A2A 20,000 0 20,000
T2 ZALE)
= 14,000
=} 3,000
= 3,000
401 Al HI L E0HHI 20,000 0 20,000
= 14,000
= 3,000
= 3,000
01 Al&H| 20,000 0 20,000
O Bz WA 20,000
= 14,000
& 3,000
= 3,000
Z2IIXNEL2 M 2 SE2 M ELZH (S4tel 0 90,000 90,000 0
Ue s ddlIgs)
= 63,000
= 13,500
= 13,500
401 Al HI L 2 0HHI 90,000 90,000 0
= 63,000
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EXN: S3so2Z 0t
By NESS 2E U M
R 23t B3| (2 &HH)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
= 700,000
O HSA SNT SZMESH SEMHIT
2L JISSAY 60,000
o=t 30,000
= 30,000
23 QFLHE M HIAFS 24,000 90,000 A 66,000
= 9,600
== 7,200
= 7,200
401 AIEHIZL 2 0HY| 24,000 90,000 A 66,000
= 9,600
= 7,200
= 7,200
01 Al&H| 24,000 90,000 A 66,000
O Z2IINE S oL B A H|
3,000,000 *2JH & 6,000
= 4,200
& 900
= 900
O EXNE2S eHLHE HH|
3,000,000 *6IH 18,000
= 5,400
& 6,300
= 6,300
SEESZSHM CHLHE AHIAIS 15,000 20,000 A5,000
401 AIEHIZL 201 Y| 15,000 20,000 A5,000
01 Al&H| 15,000 20,000 A5,000
O SEZ3HMH L E HH|l 2,500,000 x6IH A~ 15,000
HEAE 2ETY 538,450 123,668 414,782
2 241,350
& 148,550
= 148,550
NEAME YBTAIAE RF 195,750 91,000 104,750
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